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1. This stage is called as Exploratory stage 
 1. Pre childhood 
 2. Late childhood 
 3. Infancy 
 4. Adolescence 

 nHûÇw�D ejáTd�Tà>± �|s=Øq�&û <�Xø 

 1. |�PsÁÇu²\«<�Xø 

 2. �ÔáïsÁu²\«<�Xø 

 3. XèÕXøe<�Xø 

 4. ¿�eÖsÁ<�Xø 

 

2. Intrinsic motivation among the following 
 1. Praise 
 2. Self Satisfaction 
 3. Punishment 
 4. Reward 
 ç¿ì+~ y��ýË n+ÔásÁZÔá ç�|sÁD 

 1. bõ>·&�ï 

 2. d�ÇjáT+ d�+Ôá�|¾ï 

 3. <�+&�q 

 4. �V�QeÖq+ 

 

 



3. Operation that takes place in the interactive phase 
 1. T.L.M preparation 
 2. Formulating objectives 
 3. Evaluation 
 4. Subject explanation 
 |�sÁd�ÎsÁ #ás�«Ôá�¿£ <�XøýË È]¹> ¿±sÁ«ç¿£eT+ 

 1. T.L.M ÔájáÖ¯ 

 2. \¿�±«\ sÁÖ|�¿£\Îq 

 3. eTÖý²«+¿£q+ 

 4. $w�jáT $esÁD 

 

4. The ability that is tested through Essay questions 
 1. Relearning 
 2. Recall 
 3. Recognition 
 4. Recapitulation 
 y�«d�sÁÖ|� ç|�Xø�\ <�Çs� |�̄ ¿ì�+#û kÍeTsÁÆ«+ 

 1. |�ÚqsÁuó�«d�q  

 2. |�Úq:d��sÁD  

 3. >·T]ï+|�Ú  

 4. |�Úq:XøÌsÁD  

  



5. Language development starts with cooing, babbling and 
gradually leads to conversations as per this principle 

 1. Principle of Individual differences 
 2. Principle of continuing 
 3. Principle of uniformity of pattern 
 4. Principle of integration 

 uó²cÍ $¿±d�+ yîTT<�³ ¹¿]+Ôá\T, eTT<�TÝ|�\TÅ£�\ÔÃ çbÍsÁ+uó�yîT®  

ç¿£eT+>± d�+uó²w�D\Å£� <�]rjáT&��� d�Öº+#û $¿±d� �jáTeT+ 

 1. $¿±d�+ýË yîÕjáT¿ìï¿£ uóñ<�\T+{²sTT 

 2. $¿±d�+ n$ºÌÛq�+>± kÍ>·TÔáT+~ 

 3. $¿±d�+ ÿ¿£ KºÌÛÔáyîT®q qeTÖH�qT nqTd�]d�Tï+~ 

 4. $¿±d�+ d�+ºÔáyîT®q~ 

 

6. The highest level objective of Cognitive domain 
 1. Knowledge 
 2. Application 
 3. Analysis 
 4. Evaluation 
 C²ãH�Ôá�¿£ sÁ+>·+ýË nÔáT«q�Ôá kÍÆsTT \¿£�«+ 

 1. C²ãqeTT 

 2. $�jîÖ>·+ 

 3. $Xâ¢w�D 

 4. eTÖý²«+¿£q+ 

  



7. Teacher acts as a facilitator in 
 1. Learner Centered Paradigm 
 2. Teacher Centered Paradigm 
 3. Subject Centered Paradigm 
 4. Classroom Centered paradigm 
 �bÍ<ó�«jáTT&�T kå\uó�«¿£sÁï>± �+&û~ 

 1. nuó²«d�¿£ ¹¿+çB¿£�Ôá qeTÖH�ýË 

 2. �bÍ<ó�«jáT ¹¿+çB¿£�Ôá qeTÖH�ýË 

 3. $w�jáT ¹¿+çB¿£�Ôá qeTÖH�ýË 

 4. ÔásÁ>·Ü ¹¿+çB¿£�Ôá qeTÖH�ýË 

 

8. Concepts cannot be acquired through 
 1. Memorization 
 2. Innovation 
 3. Examples 
 4. Similarities & differences  
 B� / M{ì <�Çs� uó²eq\qT bõ+<�ýñeTT 

 1. ¿£+sÄÁdÓ�¿£sÁD+ 

 2. �$w�ØsÁD 

 3. �<�V�²sÁD\T 

 4. bþ*¿£\T eT]jáTT uóñ<�\T 

  



9. Teacher is explaining about Vegetables by showing them. The 
thinking of children at this situation is 

 1. Imitative thinking 
 2. Concrete thinking 
 3. Logical thinking 
 4. Abstract thinking 

 �bÍ<ó�«jáTT&�T Å£LsÁ>±jáT\qT #áÖ|¾d�Öï y�{ì >·T]+º $e]d�TïH��&�T.

� d�+<�sÁÒÛ+ýË |¾\¢\ �ýË#áq 

 1. }V�äÔá�¿£ �ýË#áq 

 2. eTÖsÁï �ýË#áq 

 3. Ô�]Ø¿£ �ýË#áq 

 4. neTÖsÁï �ýË#áq 

 
10. Stimulus acts as a reinforcer in this theory  
 1. Classical Conditioning 
 2. Trial and Error learning 
 3. Operant Conditioning 
 4. Social Learning 
 �BÝ|�q\T |�ÚqsÁÒ\q ¿±sÁ¿±\T>± |��#û�d nuó�«d�q d¾<�Æ+Ôá+ 

 1. XæçdÓïjáT ��+<ó�q+ 

 2. jáTÔá�<Ãw� nuó�«d�q+ 

 3. ¿±sÁ«kÍ<ó�¿£ ��+<ó�q+ 

 4. kÍ+|�¾T¿£ nuó�«d�q+ 

 
  



11. Guidance which is given when a student is not able to focus on 
his studies 

 1. Personal guidance 
 2. Educational guidance 
 3. Vocational guidance 
 4. Transformational guidance 

 $<�«]� Ôáq #á<�TeÚ�|Õ <��w¾¼�|³¼ýñ¿£bþÔáTq�|�ð&�T �#ûÌ eÖsÁZ<�sÁô¿£ÔáÇ+ 

 1. e«¿ìï>·Ôá eÖsÁZ<�sÁô¿£ÔáÇ+ 

 2. $<�«$w�jáT¿£ eÖsÁZ<�sÁô¿£ÔáÇ+ 

 3. W<Ã«Ð¿£ eÖsÁZ<�sÁô¿£ÔáÇ+ 

 4. |�]esÁïq eÖsÁZ<�sÁô¿£ÔáÇ+ 

 

12. Find out the wrong statement 
 1. Physical Development is very rapid at Infancy 
 2. Development of intelligence comes under Moral 

development 
 3. Emotional development depends on learning & 

Maturation  
 4. 3 – 4 years children participate in Social play 

 ç¿ì+~ y��ýË d�]¿±� ç|�e#áq+ 

 1. XèÕXøe<�XøýË Xæ¯sÁ¿£ $¿±d�+ yû>·+>± ÈsÁT>·TÔáT+~ 

 2. ç|�C²ã $¿±d�+ HîÕÜ¿£ $¿±kÍ�¿ì #î+~q~ 

 3. �<ûÇ>· $¿±d�+ nuó�«d�q+ eT]jáTT |�]|�¿£ÇÔá MT<�  

�<ó�sÁ|�&� �+³T+~. 

 4. 3`4 d�+öö |¾\¢\T kÍ+|�¾T¿£ ç¿¡&�ýË bÍý¤Z+{²sÁT. 

 
  



13. Interpersonal Intelligence is possessed by 
 1. Scientists & Engineers  
 2. Biologists & Athletes 
 3. Philosophers & Artists 
 4. Psychologists & Politicians 
 e«¿ìï>·Ôá d�+�+<ó�\ ç|�Èã ¿£*Ðqy�sÁT 

 1. Xæçd�ïyûÔáï\T Ê �+ÈúsÁT¢ 

 2. JeXæçd�ïyûÔáï\T Ê ç¿¡&�¿±sÁT\T 

 3. ÔáÔáÇyûÔáï\T Ê ¿£Þ²¿±sÁT\T 

 4. eTHÃ$C²ãq Xæçd�ïyûÔáï\T Ê s�È¿¡jáT H�jáTÅ£�\T 

 

14. Factors needed for riding a bicycle 
 1. Growth & Development 
 2. Development & Aptitude 
 3. Maturity & Learning 
 4. Growth & Interest 
 �dÕ¿ì\T Ô=¿£Ø&��¿ì ¿±e\d¾q ¿±sÁ¿±\T 

 1. �|sÁT>·T<�\ Ê $¿±d�+ 

 2. $¿±d�+ Ê d�V�²È kÍeTsÁÆ«+ 

 3. |�]|�¿£ÇÔá Ê nuó�«d�q+ 

 4. �|sÁT>·T<�\ Ê n_ósÁTº 

 
  



15. As per this theory a person who can repair a motor car can also 
repair a motor boat 

 1. Theory of Generalization 
 2. Theory of Identical elements 
 3. Theory of Ideals 
 4. Theory of Transposition 

 � d¾<�Æ+Ôá+ ç|�¿±sÁ+ yîÖ{²sÁT ¿±sÁT� u²>·T #ûjáT>·*Ðq e«¿ìï  

yîÖ{²sÁT uË³T� Å£L&� u²>·T #ûjáT>·\T>·TÔ�&�T. 

 1. kÍeÖú«¿£sÁD d¾<�Æ+Ôá+ 

 2. d�eTsÁÖ|� eTÖ\¿±\ d¾<�Æ+Ôá+ 

 3. �<�s�ô\ d¾<�Æ+Ôá+ 

 4. ç{²H�àbõ�w�H� d¾<�Æ+Ôá+ 

 

16. A condition which sustains the attention of a person for a long 
time is called 

 1. Attitude 
 2. Memory 
 3. Aptitude 
 4. Interest 
 e«¿ìï jîTT¿£Ø ne<ó�H��� mÅ£�Øe¿±\+ �*|¾ �+#áT d¾�Ü 

 1. yîÕK] 

 2. d���Ü 

 3. d�V�²È kÍeTsÁÆ«+ 

 4. n_ósÁTº 

 

 
 
 



17. Which is not the characteristic of good learning environment 
 1. Pleasant physical amenities 
 2. Stimulating Environment 
 3. Lack of good social relation among students 
 4. Facilities to support learning 
 eT+º nuó�«d�q y�Ô�esÁD \¿£�DeTT ¿±�~ 

 1. �V�ä¢<�¿£sÁyîT®q uó�Ü¿£ d�<�TbÍjáÖ\T 

 2. �ÔûïÈ¿£sÁyîT®q |�]d�s�\T 

 3. |¾\¢\ eT<ó�« eT+º kÍ+|�¾T¿£ d�+�+<ó�\T ýñ¿£bþe&�+ 

 4. nuó�«d�qÅ£� ÔÃ&�Î&û ed�ÔáT\T 

 

18. As per NEP – 2020 the pattern of education system 
 NEP –2020 ç|�¿±sÁ+ $<�«e«ed�Æ jîTT¿£Ø qeTÖH� 

 1. 5 + 3 + 3 + 4 
 2. 3 + 5 + 3 + 4 
 3. 3 + 5 + 5 + 2 
 4. 5 + 3 + 5 + 2 

 

19. Children do bargaining at this moral stage 
 1. Obedience and punishment orientation  
 2. Good boy – girl orientation 
 3. Self interest orientation 
 4. Authority and Social order orientation  
 |¾\¢\T � HîÕÜ¿£ <�XøýË uñsÁkÍs�\T #ûkÍïsÁT 

 1. $<óûjáTÔá, ¥¿£� Hû|�<̧�«úÜ 

 2. eT+ºu²\T&�T ` u²*¿£ Hû|�<�̧«úÜ 

 3. d�V�²È d�+ÔÃw� ` d�V�²¿±sÁ d�+ÔÃw� Hû|�<¸�«úÜ 

 4. n~ó¿±sÁ+, kÍeÖ�¿£ e«ed��\ �sÁÇV�²D Hû|�<�̧«úÜ 



20. A reading disability  
 1. Dysgraphia 
 2. Dysphasia 
 3. Dyslexia 
 4. Dyscalculia 
 |�sÄÁq d�+�+<ó� yîÕ¿£\«+ 

 1. &�dtç>±|�¾jáÖ 

 2. &�dt�|�d¾jáÖ 

 3. &�dtýÉ¿ìàjáÖ 

 4. &�dt¿±*Å£�«*jáÖ 
 

 
21. ICT – mediated teaching learning doesn’t encourage 
 1. Learning by doing 
 2. Critical thinking 
 3. Passive Learning 
 4. Research & Evaluation Skills  

 ICT eÖ<ó�«eT+>± È]¹> uË<ó�H�uó�«d�q B�� çbþÔáàV¾²+#á<�T 

 1. #ûjáT&�+ <�Çs� nuó�«d�q+ 

 2. $eTsÁôH�Ôá�¿£ �ýË#áq 

 3. �çw¾ØjáÖÔá�¿£ nuó�«d�q+ 

 4. |�]XË<ó�q eT]jáTT eTÖý²«+¿£q HîÕ|�ÚD²«\T 
  

  



22. Popular ICT Platform used for collaborative learning and 
document sharing in education 

 1. Microsoft Excel 
 2. Google Classroom 
 3. Adobe Photoshop 
 4. AutoCAD 

 $<�«ýË uó²>·kÍÇeT« nuó�«d�H��¿ì, |�çÔ�\ eÖ]Î&�¿ì ç|�eTTK+>±  

�|�jîÖÐ+#û yû~¿£ 

 1. yîT®ç¿ÃkÍ|�t¼ mÂ¿àýÙ 

 2. >·Ö>·TýÙ ¿±¢dtsÁÖ+ 

 3. n&ÃuÙ b�þ{ËcÍ|t 

 4. �{Ë¿±&� 

 

23. The condition of having dissatisfaction of motive is called 
 1. Conflict 
 2. Maladjustment 
 3. Anxiety 
 4. Frustration 

 e«¿ìïýË� ç�|sÁ¿£+ Ôá�|¾ï #î+<�¿£ bþe&�+ nHû d¾�Ü 

 1. d�+|��TsÁüD 

 2. $w�eTjîÖÈq+ 

 3. y�«Å£�\Ôá 

 4. Å£�+sÄÁq+ 

  
  



24. The main objective of RTE ACT - 2009 
 1. Providing free textbooks to students 
 2. Providing free and compulsory education to children 
 3. Promoting private educational institutions 
 4. Limiting access to quality education 
 RTE #á³¼+ ` 2009 jîTT¿£Ø ç|�<ó�q \¿£�«+ 

 1. $<�«sÁT�\Å£� �ºÔá bÍsÄÁ«|�Úd�ï¿±\T n+~+#á&�+ 

 2. |¾\¢\Å£� �ºÔá, �sÁÒ+<ó� $<�«qT n+~+#á&�+ 

 3. ç�|Õyû³T $<�«d�+d��\qT çbþÔáàV¾²+#á&�+ 

 4. H�D«yîT®q $<�« ne¿±Xæ�� |�]$TÔá+ #ûjáT&�+ 

  

25. As per Philip Arice, Childhood is 

 1. Natural  
 2. Parental Construct 
 3. Social Construct 
 4. Biological 
 |�¾*|t @]dt ç|�¿±sÁ+, u²\«+ nHû~ 

 1. d�V�²ÈyîT®q~ 

 2. Ôá*¢<�+ç&�T\#û @s�Î³T #ûjáT�&�q~ 

 3. d�eÖÈ+#û @s�Î³T #ûjáT�&�q~ 

 4. Je d�+�+<ó�yîT®q~ 

 
  



26. As per this perceptual law, we perceive the things that are 
identical in Size, Shape, Colour as a group 

 1. Law of Continuity  
 2. Law of closure 
 3. Law of Symmetry 
 4. Law of Similarity 

 � ç|�Ôá«¿£� �jáTeT+ ç|�¿±sÁ+ ` |�]eÖD+, �¿±sÁ+, sÁ+>·TýË ÿ¹¿ý²

�+&û y�{ì� eTq+ d�eTÖV�²+>± ç>·V¾²kÍïeTT 

 1. n$sÁÞø �jáTeT+ 

 2. |�PsÁD �jáTeT+ 

 3. kåw�¼e �jáTeT+ 

 4. kåeT« �jáTeT+ 

 

27. Example of Experiential learning  
 1. Rote learning 
 2. Learning by hearing  
 3. Learning by doing 
 4. Learning through discussions 

 nqTuó�y�Ôá�¿£ nuó�«d�H��¿ì �<�V�²sÁD 

 1. �{¡¼ nuó�«d�q+ 

 2. $q&�+ <�Çs� nuó�«d�q+ 

 3. #ûjáT&�+ <�Çs� nuó�«d�q+ 

 4. #ásÁÌ\ <�Çs� nuó�«d�q+ 
 

 

  



28. Objectivity is more in this Method 
 1. Introspective Method 
 2. Interview 
 3. Rating scales 
 4. Experimental Method 
 ed�Tï�w�¼Ôá n~ó¿£+>± >·\ |�<�ÆÜ 

 1. n+Ôá:|�]o\H� |�<�ÆÜ 

 2. |�]|��#áÌÛ 

 3. �s�ÆsÁD eÖ|�q\T 

 4. ç|�jîÖ>· |�<�ÆÜ 

 

29. A person’s ‘Ego’ is ruled by 
 1. Idealistic Principle 
 2. Realistic Principle 
 3. Pleasure Principle 
 4. Psychological Principle 
 e«¿ìï »nV�²+µ B� �<ó�sÁ+>± |��#ûd�Tï+~ 

 1. �<�sÁô d�ÖçÔá+ 

 2. y�d�ï$¿£ d�ÖçÔá+ 

 3. �q+<� d�ÖçÔá+ 

 4. eÖqd¾¿£ d�ÖçÔá+ 

 

  



30. Author of the book “The Process of Education” 
 1. W.B. Watson 
 2. Francis Galton 
 3. W.C. Bagley 
 4. Jerome Bruner 
 »»<� çbÍ�ddt �|�t m&�T«¹¿w�H�µµ (The Process of Education)  

ç>·+<̧�¿£sÁï 

 1. W.B. y�³àH� 

 2. çb�Í�àdt >±\¼H� 

 3. W.C. u²¹>¢ 

 4. CÉsÃ+ ç�ÖqsY 

 

  



SET – 8 
Telugu 

 
31. �sÁT>·TDe+ÔáT" &=&�T¢ Ôáq ¿=+&�|�¿±sÁeTT �djáTTq|�ð&�T+ 

 �sÁV¾²ÔáyûT jîTTqsÁTÌ H=¿£ |�³T¼q HîÕqqT ^&�T" CñjáT>± 

 HîiT>·&�T; �¿£ØyûT¿£<� jáT<î³¢q" >·eÇeTT"�{ì¼ jîT+ÔájáTTH� 

 <�sÁTe>· C¤ºÌq+ uÉsÁT>·T Ô�*$TújáT<î yîq� uó²d�Øs�! 

 >·TDe+ÔáT&�� <û�ÔÃ bþý²ÌsÁT 

 1. bÍ\T 

 2. MT>·&� 

 3. �|sÁT>·T 

 4. úsÁT 

 

32. �sÁT>·TDe+ÔáT" &=&�T¢ Ôáq ¿=+&�|�¿±sÁeTT �djáTTq|�ð&�T+ 

 �sÁV¾²ÔáyûT jîTTqsÁTÌ H=¿£ |�³T¼q HîÕqqT ^&�T" CñjáT>± 

 HîiT>·&�T; �¿£ØyûT¿£<� jáT<î³¢q" >·eÇeTT"�{ì¼ jîT+ÔájáTTH� 

 <�sÁTe>· C¤ºÌq+ uÉsÁT>·T Ô�*$TújáT<î yîq� uó²d�Øs�! 

 uó²d�ØsÁ XøÔá¿£ sÁ#ásTTÔá 

 1. @qT>·T \¿£��D ¿£$ 

 2. e&�¦~ d�Tu²Òs�jáT ¿£$ 

 3. <ó�ÖsÁ̈{ì 

 4. eÖsÁ<� yî+¿£jáT« 

 

  



33. eÖsÁTÎ ç|�¿£�Ü d�Çuó²e+. eÖqeÚ&� d�Çuó²e+ Å£L&� eÖsÁTÎqT  

¿ÃsÁTÔáT+~. d�eÖÈ+ýË eÖsÁTÎ n¿£Ø&� ç|�È\ �¿±+¿£�\Å£� n<�Ý+  

|�&�TÔáT+~. uó²sÁÔá<ûXø+ýË kÍÇÔá+çÔá« kÍ<ó�q nHû �¿±+¿£� BsÁé¿±\  

d�+|��TsÁüD\Å£� <�]rd¾, kÍÇÔá+çÔ�«q+ÔásÁ+ <ûXæ�� kÍeT«y�<�,  

ý�¿ì¿£, ç|�C²kÍÇeÖ«�¿ì n+¿ìÔá+ #ûd¾+~. � $<ó�+>± d�eÖÈ  

�s��D+ýËqÖ, <�� Jeq $<ó�q+ýËqT e#ûÌ eÖsÁTÎ\qT  

kÍeÖ�¿£ |�]esÁïq n+{²sÁT. 

 <ûXæ�� kÍeT«y�<�, ý�¿ì¿£, ç|�C²kÍÇeÖ«�¿ì n+¿ìÔá+ #ûd¾q~ 

 1. ç|�¿£�Ü d�Çuó²e+ 

 2. ç|�È\ �¿±+¿£� 

 3. kÍÇÔá+çÔ�«�� kÍ~ó+#�\Hû ¿Ã]¿£ 

 4. eÖqeÚ� d�Çuó²e+ 

 
34. eÖsÁTÎ ç|�¿£�Ü d�Çuó²e+. eÖqeÚ&� d�Çuó²e+ Å£L&� eÖsÁTÎqT  

¿ÃsÁTÔáT+~. d�eÖÈ+ýË eÖsÁTÎ n¿£Ø&� ç|�È\ �¿±+¿£�\Å£� n<�Ý+  

|�&�TÔáT+~. uó²sÁÔá<ûXø+ýË kÍÇÔá+çÔá« kÍ<ó�q nHû �¿±+¿£� BsÁé¿±\  

d�+|��TsÁüD\Å£� <�]rd¾, kÍÇÔá+çÔ�«q+ÔásÁ+ <ûXæ�� kÍeT«y�<�,  

ý�¿ì¿£, ç|�C²kÍÇeÖ«�¿ì n+¿ìÔá+ #ûd¾+~. � $<ó�+>± d�eÖÈ  

�s��D+ýËqÖ, <�� Jeq $<ó�q+ýËqT e#ûÌ eÖsÁTÎ\qT  

kÍeÖ�¿£ |�]esÁïq n+{²sÁT. 

 »»kÍÇÔá+çÔ�«q+ÔásÁ+µµ nHû |�<�eTTýË d�+~ó� >·T]ï+#á+&�. 

 1. nÔáÇ d�+~ó 

 2. d�esÁ�BsÁé d�+~ó 

 3. >·TD d�+~ó 

 4. jáTD²<ûXø d�+~ó 

 

 
 
 



35. »Ôî\T>·T |�P\Tµ XøÔá¿£ ¿£sÁï 

 1. H�sÁ¢ ºsÁ+J$ 

 2. eÖsÁ<� yî+¿£jáT« 

 3. H�sÁ¢ yî+¿£fñXøÇs�eÚ 

 4. bþÔáT\Ö] MsÁç�V�²�+ 

 
36. »|�+¿£+µ nqT |�<��¿ì nsÁ�+ 

 1. |�<��+ 

 2. |�ú�sÁT 

 3. ýË¿£+ 

 4. �TsÁ<� 

 
37. »�<�¿£eTTµ |�<��¿ì |�s�«jáT|�<�\T 

 1. ÔáTsÁ>·eTT, >·TçsÁeTT 

 2. sÁ<�̧eTT, ÔûsÁT 

 3. e�¿£�eTT, #î³T¼ 

 4. È\eTT, úsÁT 

 
38. »$<�«µ |�<��¿ì $¿£�Ü 

 1. $<ó�« 

 2. $<îÝ 

 3. $~jáT 

 4. $<�Ý 

 
 
 



39. »Èq�µ |�<��¿ì H�H�sÁ� |�<�\T 

 1. #áÖ#áT, Ôî*jáTT 

 2. Ôá*¢, <�jáT 

 3. �T~Æ, Ôá\|�Ú 

 4. �+<�, eÖ³ 

 
40. �eÚ*�dï �|>·T\T ýÉ¿£Ø�|{ì¼q³T¢ nq>± 

 1. �eÚ\ �|>·T\T ýÉ¿£Ø �|³¼&�+ 

 2. $w�jáÖ�� �\d�«+>± ç>·V¾²+#á&�+ 

 3. $w�jáÖ�� ÔáÇsÁ>± ç>·V¾²+#á&�+ 

 4. �eÚ\qT n$T� �|>·T\T ¿=qT¿ÃØe&�+ 

 
41. $Hû y�{ì¿ì, ¿£Hûy�{ì¿ì uÉÔîï&�T <�ÖsÁ+ ` @$T³~? 

 1. #îeÚ\T, HÃsÁT 

 2. #îeÚ\T, eTTÅ£�Ø 

 3. #îeÚ\T, #î+|�\T 

 4. #îeÚ\T, ¿£qT�\T 

 

42. ¿£$ ç|�Üuó�qT Ws�! n� yîT#áTÌÅ£�H��sÁT. � y�¿£«+ýË ne«jáTeTT 

 1. ¿£$ 

 2. ç|�Üuó� 

 3. Ws� 

 4. yîT#áTÌÅ£�H��sÁT 

 
 
 



43. e�¿£�eTT ne�� sÁ¿ì�+#áTqT. 

 � y�¿£«+ýË ^Ôá̂ d¾q |�<�+ýË� $uó�¿ìï 

 1. ç|�<̧�eÖ $uó�¿ìï 

 2. ~ÇrjáÖ $uó�¿ìï 

 3. Ôá�rjáÖ $uó�¿ìï 

 4. #áÔáT �̄ $uó�¿ìï 

 
44. � ç¿ì+~ y�¿±«\ýË »eT<ó�«eT |�ÚsÁTw�µÅ£� d�+�+~ó+ºq~ 

 1. HûqT ç¿£eT¥¿£�DÔÃ q&�T#áTÅ£�+{²qT 

 2. y�sÁT ç¿£eT¥¿£�DÔÃ q&�T#áTÅ£�+{²sÁT 

 3. úeÚ ç¿£eT¥¿£�DÔÃ q&�T#áT¿Ã 

 4. �yîT ç¿£eT¥¿£�DÔÃ q&�T#áTÅ£�+³T+~. 

 

45. ¿ì+~ y��ýË �Ôá« @¿£e#áqeTTqÅ£� d�+�+~ó+#á�~ 

 1. Ôî\T|�Ú 

 2. e&�T¢ 

 3. �Ôáï&� 

 4. ¿£+#áT 

 
46. u²\¿£�w�� ~q|�çÜ¿£ #á<�TeÚÔáTH��&�T. 

^Ôá ^d¾q |�<�+ � ç¿ì+~ y��ýË <û�¿ì #î+~q~ 

 1. ¿£sÁï 

 2. ¿£sÁ� 

 3. ç¿ìjáT 

 4. nd�eÖ|�¿£ ç¿ìjáT 



47. ç¿ì+~ y��ýË d�+jáTT¿±ï¿£�sÁ+ ýñ� |�<�+ 

 1. eçÈeTT 

 2. u²\«eTT 

 3. eTT<�Ý 

 4. #î³T¢ 

 
48. ç¿ì+~ y��ýË n+ÔákÍ�¿£�s��� >·T]ï+#á+&� 

 1. jáT 

 2. >· 

 3. eT 

 4. ¿£ 

 

49. »¿£fÉ¼<�T³µ |�<��� $&�BjáT+&�. 

 1. ¿£fÉ¼ G <�T³ 

 2. ¿£³¼ G m<�T³ 

 3. ¿£&� G m<�T³ 

 4. ¿£&�T G m<�T³ 

 

50. »>·Cñ+ç<�T&�Tµ |�<�+ýË� d�+~ó 

 1. d�esÁ�BsÁéd�+~ó 

 2. >·TD d�+~ó 

 3. nÔáÇd�+~ó 

 4. �ÔáÇd�+~ó 

 

 

 



51. »|�<�<ó�ÇqT\Tµ $ç>·V�²y�¿£«+ 

 1. |�<�eTT\+<�T <ó�ÇqT\T 

 2. |�<�eTT\ jîTT¿£Ø <ó�ÇqT\T 

 3. |�<�eTT, <ó�ÇqT\T 

 4. |�<�eTT\ e\q <ó�ÇqT\T 

 

52. »I I Uµ ºV�²�eTT @ >·D²�¿ì #î+~q~? 

 1. »d�µ >·DeTT 

 2. »jáTµ >·DeTT 

 3. »sÁµ >·DeTT 

 4. »Ôáµ >·DeTT 

 

53. »$w�§� sÃºw�§� �w�§� d�V¾²w�§� ¿£�w�§�µ  

�|Õ y�¿£«+ýË >·\ n\+¿±sÁ+ 

 1. sÁÖ|�¿£ 

 2. n+Ô�«qTçbÍd� 

 3. e�Ô�ï«qTçbÍd� 

 4. nÜXøjîÖ¿ìï 

 

54. »d¾>·TZ|�&�TÔáÖ H� eTT+<�T �\�&=<�TÝµ �~ @ y�¿£«+ 

 1. nqTeTÔá«sÁ�¿£ y�¿£«+ 

 2. ç|�Xæ�sÁ�¿£ y�¿£«+ 

 3. �XøÌs�«sÁ�¿£ y�¿£«+ 

 4. ��w<ó�sÁ�¿£ y�¿£«+ 

 

 



55. �s��D²Ôá�¿£, $eTsÁôH�Ôá�¿£ <��w¾¼� �|+bõ+~+#áT¿=qT³ nqTq~ 

 1. C²ãqeTT 

 2. ne>±V�²q 

 3. d��ÈH�Ôá�¿£Ôá 

 4. uó²cÍ_ósÁTº 

 

56. Ð&�T>·T yî+¿£³ s�eTeTÖ]ï>±] Èq�~H��� @ ~HÃÔáàe+>±  

ÈsÁT|�ÚÅ£�+³TH��+ 

 1. n+Ôás�̈rjáT eÖÔá�uó²cÍ ~HÃÔáàe+ 

 2. Ôî\T>·Tuó²cÍ ~HÃÔáàe+ 

 3. n+Ôás�̈rjáT n¿£�s�d�«Ô� ~HÃÔáàe+ 

 4. n+Ôás�̈rjáT d�+^Ôá ~HÃÔáàe+ 

 

57. »»�ÔáïeT uó²w�D+µµ \¿£�D+ ¿±�~ 

 1. <óîÕsÁ«+>± eÖ{²¢&�³+ 

 2. <ó�s�Þø+>± eÖ{²¢&�³+ 

 3. <ÃcÍ\ÔÃ eÖ{²¢&�³+ 

 4. d�Îw�¼+>± eÖ{²¢&�³+ 

 

58. �ºÔá �sÁÒ+<ó� $<�« V�²Å£�Ø _\T¢qT ýË¿ùd�uó� �yîÖ~+ºq Ôû~ 

 1. 4 �>·d�T¼ 2009 

 2. 4 |�¾ç�e] 2019 

 3. 5 Èqe] 2011 

 4. 4 |�¾ç�e] 2024 

 



59. bÍsÄÁ«|�Úd�ï¿±\ $<�« ç|�eÖD²\ýË ýñ�~ 

 1. |�<�C²\+ 

 2. dÓÇjáTsÁ#áq 

 3. d��ÈH�Ôá�¿£Ôá 

 4. eTÖý²«+¿£q+ 

 

60. eT+º ç|�Xø�|�çÔá+ \¿£�D+ ¿±�~ 

 1. $XøÇd�újáTÔá 

 2. W|�jîÖÐÔá 

 3. ¿±]Äq«Ôá 

 4. çbÍeÖDì¿£Ôá 

  



SET – 8 

ENGLISH 

 
61. Sarath is reading a book right now. 
 The above sentence is in 
 1. the present perfect tense 
 2. the past continuous tense 
 3. the present continuous tense 
 4. the future simple tense 

 

62. Choose the option that correctly describes how the present 
continuous tense is formed. 

 1. Subject + is + past participle of verb 
 2. Subject + are + past participle of verb 
 3. Subject + auxiliary verb (is/am/are) + verb (ing form) 
 4. Subject + has + verb (present participle) 

 

63. Choose the grammatically correct sentence from the following. 
 1. Let the boy to go. 
 2. Let the boy go to. 
 3. Let the boy go. 
 4. Let go the boy to. 

 

64. Choose the expression that can be used to ask for clarification. 
 1. Indeed! 
 2. Can you explain further? 
 3. Any way… 
 4. Firstly… 
 

 



65. Choose the correctly punctuated sentence. 
 1. Have you seen my keys, phone and, wallet? 
 2. Have you seen my keys, phone, and wallet? 
 3. Have you seen my keys, phone and wallet 
 4. Have you seen my keys phone, and wallet? 
 

66. Choose the correct sequence of the words in which they appear 
in the dictionary. 

 A) describe B) develop C) demonstrate     D) demand 

 1. B D C A 
 2. A B D C 
 3. C D B A 
 4. D C A B 

 

67. One of the following is not a linker indicating addition: 
 1. furthermore 
 2. instead 
 3. additionally 
 4. moreover 
 

68. Select the following sentence that is a complex sentence: 
 1. The sun was shining brightly, so we decided to go for a 

picnic. 
 2. She wore her favourite dress, and she felt confident. 
 3. We stayed indoors because it was raining heavily. 
 4. Jack and Jill went up the hill to fetch a pail of water. 

  



69. He will come to the party _____ he finishes his work. 
 Choose the correct conjunction to complete the sentence. 
 1. so 
 2. because 
 3. until 
 4. when 
 
70. One of the following is not an example of a concrete noun: 
 1. tree 
 2. joy 
 3. house 
 4. river 
 
71. Choose the phrasal verb that means ‘to cause something to 

happen or occur.’ 
 1. look out for 
 2. take over 
 3. bring about 
 4. get away with 

 

72. Choose the sentence that is appropriate to use when expressing 
a fact or providing information. 

 1. Exclamatory sentence 
 2. Declarative sentence 

 3. Imperative sentence 
 4. Interrogative sentence 
 

 
 
 
 



73. “Master, is anything wrong?” asked the Dog. 
 Choose the correct indirect speech for the sentence above. 
 1. The Dog asked his master whether someone was wrong 
 2. The Dog asked his master was anything wrong. 
 3. The Dog asked his master if anything was wrong 
 4. Master asked the Dog if he was wrong. 

 

74. Nobody _____ come for the party yet. We’re still waiting. 
 Choose the correct verb that fits the blank. 
 1. is 
 2. have 
 3. has 
 4. are 

 

75. The type of disease which is spread by direct contact. 
 Choose the one word substitute for the expression above 
 1. incurable 
 2. infectious 
 3. fatal 
 4. contagious 

 

76. Choose the correctly spelt word 
 1. aironautocal 
 2. aeronautical 
 3. aeronatical 
 4. aironatical 
 
 



77. He told me that he knocked loudly on Mr. Nath’s door that 
evening. 

 Choose the synonym of the word ‘knocked’ 
 1. pushed 
 2. pulled 
 3. banged 
 4. pounded 

 

78. “But the man didn’t go, nor did he stop talking. 
 Choose the antonym of the word ‘go’ 
 1. stay 
 2. leave 
 3. depart 
 4. move 
 

79. Children’s _______ are taken into account while designing the 
learning curriculum and textbook. 

 Choose the option that fits in the blank. 
 1. psychological development and interest 
 2. financial status and family background 
 3. political status and parental income. 
 4. height and weight 

 

80. The expression ‘Communicative Competence’ is coined by: 
 1. Harold Palmer 
 2. Swain 
 3. Hymes 
 4. Michel West 
 
 



81. The following dictionary best suits at the primary level to 
teach English. 

 1. Advanced Learner’s Dictionary 
 2. Masters Dictionary 
 3. Pictorial Dictionary 
 4. Thesaurus 
 
82. While teaching a lesson, audio – visual aids must be used 
 1. wherever necessary 
 2. before announcing the topic 
 3. while students are making a noise 
 4. after giving the assignment 
 
83. Read the following passage. 
 The mountaintop was shrouded in mist, lending an air of 

mystery to the rugged landscape. Pine trees stood tall, their 
branches swaying gently in the mountain breeze. A solitary 
eagle soared overhead, its majestic wings outstretched as it 
rode the thermals. In this lofty realm, nature reigned supreme, 
untouched by the chaos of the world below. 

 Select the correct statement based on the passage: 
 1. The mountaintop was obscure. 
 2. Palm trees lined the mountain slopes, swaying in the 

breeze. 
 3. The eagle was perched on a rock, not soaring overhead. 
 4. Nature's beauty was marred by the presence of  

pollution. 
  
 
 
 
 
 



84. Read the following passage. 
 The mountaintop was shrouded in mist, lending an air of 

mystery to the rugged landscape. Pine trees stood tall, their 
branches swaying gently in the mountain breeze. A solitary 
eagle soared overhead, its majestic wings outstretched as it 
rode the thermals. In this lofty realm, nature reigned supreme, 
untouched by the chaos of the world below. 

 Choose the correct statement based on the passage: 
 1. The mountain breeze was harsh and biting. 
 2. The mountaintop was bustling with activity, filled with 

tourists. 
 3. The eagle's wings were folded as it rested on a branch. 
 4. Nature remained untouched by human interference in  

the lofty realm. 
 
85. The following is not an ELT method. 
 1. The Direct Method 
 2. The Social Method 
 3. The Audio – Lingual Method 
 4. The Silent Way 

 
86. The following breaks the ice by adding variety to the regular 

activities 
 1. A Language game 
 2. Idioms and Phrases 
 3. Proverbs 
 4. Frequently used words 
 

  



87. The player passed the ball _______ the next player. 
 Change the correct option that fits the blank 
 1. above off 
 2. off onto 
 3. upon to  
 4. over to 

 
88. The third conditional is used to talk: 
 1. about future 
 2. about scientific facts 
 3. about habitual actions 
 4. about hypothetical past situations 

 

89. Choose the modal verb that is used for making a deduction or 
expressing certainty. 

 1. Can 
 2. Shall 
 3. Must 
 4. Would 

 

90. One of the following is not an instance where articles are 
typically omitted. Identify it. 

 1. Names of feelings in general sense 
 2. Names of academic subjects 
 3. Names of villages 
 4. Names of rivers 

  



SET –1 

Mathematics 
 
91. Sum of the place values of ‘6’ in the number 67426 
 67426 d�+K«ýË »6µ jîTT¿£Ø kÍÆq $\Te\ yîTTÔáïeTT 

 1. 60000 
 2. 60005 
 3. 60006 
 4. 60009 
 

92. LCM of 2 2 3 2 3 3,´ ´ ´ ´  is 

 2 2 3 2 3 3,´ ´ ´ ´ \ ¿£.kÍ.>·T 

 1. 36 
 2. 30 
 3. 40 
 4. 20 

 

93. Which is the identity for the addition of rational numbers. 
 n¿£sÁD¡jáT d�+K«\ d�+¿£\q ÔáÔáàeÖ+XøeTT n� <û�� n+{²sÁT 

 1. 0 
 2. – 1  
 3. 1 

 4. 1
5

 

  

 

 

 



94. 100 25 ______´ =  

 1. 100 
 2. 25 
 3. 50 
 4. 75 
  

95. A motorbike travels 220 km with 5 liters of petrol, then the 
distance it covers with 3.5 liters of Petrol (in km) 

 ÿ¿£ yîÖ{²sY uÉÕ¿ù 5 ©³sÁ¢ �|ç{ËýÙÔÃ 220 ¿ìýË MT³sÁT¢  

ç|�jáÖDì+º+~. 3.5 ©³sÁ¢ �|ç{ËýÙÔÃ �~ m+Ôá <�ÖsÁ+  

ç|�jáÖDìd�Tï+~ (¿ì.MT.\ýË) 

 1. 66  
 2. 154  
 3. 100  
 4. 220  
  

96. If the principal is Rs. 1200 then the amount to be paid at the 
end of 2 years (in Rs.), at 12% p.a. 

 nd�\T sÁÖ. 1200 d�+eÔáàs��¿ì 12% e&�¦ ç|�¿±sÁ+ 2 d�+eÔáàs�\  

ÔásÁTy�Ôá #î*¢+#�*àq yîTTÔáï+ (sÁÖ. \ýË) 

 1. 288 
 2. 1200 
 3. 488 
 4. 1488 
 
 

  



97. The number of independent measurements required to 
construct a quadrilateral uniquely 

 #áÔáTsÁTÒÛÈ �s��D²�¿ì @Â¿Õ¿£+>± ned�sÁeT>·T d�ÇÔá+çÔá  

¿=\Ôá\ d�+K« 

 1. 4 
 2. 5 
 3. 6 
 4. 3 
  

98. A triangle with measures of 90°, 60°, 30° is a 
 1. Right angle Triangle 
 2. Obtuse angle Triangle 
 3. Acute angle Triangle 
 4. Reflex angle Triangle 

 90°, 60°, 30° ¿ÃD²\T ¿=\Ôá\T>± >·\ çÜuó�TÈ+ 

 1. \+�¿ÃD çÜuó�TÈ+ 

 2. n~ó¿£¿ÃD çÜuó�TÈ+ 

 3. n\Î¿ÃD çÜuó�TÈ+ 

 4. |�s�esÁïq¿ÃD çÜuó�TÈ+ 

 
99. Area of rectangle whose sides are 5x and (x + 1) 
 5x eT]jáTT (x + 1) ¿=\Ôá\T uó�TC²\T>± >·\ BsÁé #áÔáTsÁçd� yîÕXæ\«+ 

 1. 25 5x x+  

 2. 5 5x x+  

 3. 25 5x x-  

 4. 25x  
  

 

 



100. 1 hour and 120 seconds in minutes 
 1 >·+³ eT]jáTT 120 �d¿£q¢qT �$TcÍýýË¿ì eÖsÁÌ>± 

 1. 65 
 2. 62 
 3. 72 
 4. 60 
,  
101. Standard form of 31860000000 
 31860000000 d�+K« jîTT¿£Ø çbÍeÖDì¿£ sÁÖ|�+ 

 1. 103 186 10. ´  

 2. 103 186 10. -´  

 3. 10318 6 10. ´  

 4. 10318 6 10. -´  
  

102. 2 2a b- is equal to 

 2 2a b- Å£� d�eÖqyîT®q~ 

 1. 2( a b )+  

 2. 2( a b )-  

 3. ( a b )( a b )- +  

 4. ( x a )( a b )+ +  

  

103. Raju’s age is ‘y’ years. His son’s age is half of the Raju’s age. 
Then his son’s age is 

 s�E ejáTd�Tà ‘y’ d�+eÔáàs�\T. nÔá� Å£�eÖsÁT� ejáTd�Tà s�E  

ejáTd�TàýË d�>·+. nsTTq nÔá� Å£�eÖsÁT� ejáTd�Tà 

 1. 2y 

 2. 
2
y  

 3. 2y +  

 4. 2y -  



104. Value of 3 2x( x )- +  at x = 1 

 x = 1 e<�Ý 3 2x( x )- + $\Te 

 1. 1 
 2. 2 
 3. – 1  
 4. 0 
 

105. 107 18
132 132

?+ =  
 

 1. 100
132

 

 2. 125
132

 

 3. 18
132

 

 4. 89
132

 

   

106. Each bag has 475 kilo grams of sugar. The quantity of Sugar 
in 16 bags is (in kilograms) 

 ÿ¿=Ø¿£Ø d�+ºýË 475 ¿ìýËç>±eTT\ #áÂ¿ØsÁ ¿£\<�T. 16 d�+#áT\ýË  

�+&�T #áÂ¿ØsÁ (¿ìýËç>±eTT\ýË) 

 1. 500 
 2. 20000 
 3. 7600 
 4. 9000 
  

  



107. Half the product of its diagonals of a Quadrilateral represents 
 1. Area of cube 
 2. Area of trapezium 
 3. Area of Circle 
 4. Area of Rhombus 
 #áÔáTsÁTÒÛÈ+ýË� ¿£sÁ�eTT\ \�Æ+ýË d�>·+ nqTq~ <û�� d�Öºd�Tï+~ 

 1. d�eT|��Tq+ yîÕXæ\«+ 

 2. çfÉ|Ó�jáT+ yîÕXæ\«+ 

 3. e�Ôáï yîÕXæ\«+ 

 4. s�+�dt yîÕXæ\«+ 

 
108. Probability of getting an ace card from a well shuffled deck of 

52 playing cards 
u²>± ¿£*|¾q 52 �|¿£ eTT¿£Ø\ ¿£³¼ qT+º ÿ¿£ @dt eTT¿£Ø e#áTÌ³Å£� 

>·\ d�+uó²e«Ôá 

 1. 1
52

 

 2. 1
4

 

 3. 1
13

 

 4. 1
2

 

 

  



109. A cricketer scores the following runs in eight innings, then the 
Range of the data is 

  58, 76, 40, 35, 46, 45, 10, 100 
 ÿ¿£ ç¿ìÂ¿{Ù �³>±&�T m�$T~ ���+>́àýË � ç¿ì+~ |�sÁT>·T\T #ûd¾q 

� <�Ô�ï+Xø+ y�«|¾ï  

  58, 76, 40, 35, 46, 45, 10, 100 

 1. 60 
 2. 10 
 3. 100 
 4. 90 
  

110. Ratio of 5 m to 10 km 
 5 MT³sÁT¢ eT]jáTT 10 ¿ìýËMT³sÁT¢ �w�ÎÜï  

 1. 1 : 2 
 2. 5 : 10 
 3. 1 : 2000 
 4. 2 : 1000 
  

111. If P is principle, R is rate of interest and N is time period, then 
the formula for the total amount, when interest is compounded 
annually  

 P`nd�\T, R`e&�¦¹s³T eT]jáTT N`¿±\ e«e~ó nsTTq   

d�+eÔáàsÁeTTqÅ£� ÿ¿£kÍ] e&�¦ ýÉ¿ìØ+ºq njûT« yîTTÔ�ï�¿ì d�ÖçÔá+ 

 1. 
100
PNR  

 2. 
100

NRPé ù+ê úë û
 

 3. 
N

100
R1P úû

ù
êë
é +  

 4. 
2N

200
R1P úû

ù
êë
é +  

  



112. Which is True 
 1. All squares are rhombuses and also rectangles. 
 2. All rectangles are squares 
 3. All kites are rhombuses 
 4. All squares are not parallelograms 
 ¿ì+~ y�{ìýË @~ d�Ôá«eTT 

 1. #áÔáTsÁçkÍ\ú� d�eT#áÔáTsÁTÒÛC²\T eT]jáTT BsÁé#áÔáTsÁçkÍ\T 

 2. BsÁé#áÔáTsÁçkÍ\ú� #áÔáTsÁçkÍ\T 

 3. >±* |�{²\ú� d�eT#áÔáTsÁTÒÛC²\T 

 4. #áÔáTsÁçkÍ\ú� d�eÖ+ÔásÁ #áÔáTsÁTÒÛC²\T ¿±eÚ 

 

113. Which is not an improper fraction 
 ¿ì+~ y��ýË n|�ç¿£eT _óq�+ ¿±�~  

 1. 11
11

 

 2. 11
8

 

 3. 8
11

 

 4. 13
11

 

   
 
 
 
 
 
 



114. Leela is Radha’s younger sister. Leela is 11
2

 years younger 

than Radha. If Radha’s age is ‘p’ then the Leela’s age (in 
years) 

 ©\ s�<ó� #îýÉ¢\T. s�<ó� ¿£+fñ ©\ 
11
2
d�+eÔáàs�\T ºq�~. s�<ó�  

ejáTd�Tà ‘p’ nsTTq ©\ ejáTd�Tà  (d�+eÔáàs�\ýË) 

 1. 3
2

P +  

 2. 1P +  

 3. 3P -  

 4. 3
2

P -  

  

 

METHODOLOGY   

 
115. The book written by ancient mathematician 

Mahaveeracharyulu 
 1. Leelavathi Ganitham 

 2. Ganitha Vahini 
 3. Ganitha Chandrika 
 4. Ganitha Sarasamgraham 

 çbÍNq >·DìÔáXæ�d�ïyûÔáï eTV�äMs�#�sÁT«\T sÁº+ºq ç>·+<̧�+ 

 1. ©ý²eÜ >·DìÔá+ 

 2. >·DìÔá y�V¾²� 

 3. >·DìÔá #á+ç~¿£ 

 4. >·DìÔá kÍsÁd�+ç>·V�²+  

 

 



116. The value developed in a student by doing Puzzles, Sudoku, 
Riddles and Magic square is   

 1. Disciplinary value 
 2. Utilitarian value  
 3. Cultural value  
 4. Entertainment value  

 |��ýÙà, d�T&ÃÅ£�, ºÅ£�Ø ç|�Xø�\T, eÖjáÖ #á<�s�\T yîTT<�\>·T  

n+Xæ\T #ûjáTT³ <�Çs� $<�«sÁT�\ýË �|+bõ+<�T $\Te  

 1. ç¿£eT¥¿£�D² $\Te 

 2. ç|�jîÖÈq $\Te 

 3. kÍ+d�Ø�Ü¿£ $\Te 

 4. $HÃ<�|�Ú $\Te 

 

117. A teacher uses role play method to teach mathematics in his 
class. His aim is  

 1. Projecting ideas 
 2. Keeping children busy 
 3. Maintaining Discipline  
 4. Entertaining children 

 >·DìÔ��� uË~ó+#á&��¿ì ÿ¿£ �bÍ<ó�«jáTT&�T Ôáq ÔásÁ>·ÜýË sÃýÙ�|¢  

|�<�ÆÜ� �|�jîÖÐ+#�&�T. nsTTÔû nÔá� \¿£�«+ 

 1. �ýË#áq\qT ¹sÂ¿Üï+#á&�+ 

 2. $<�«sÁT�\qT U²°>± �+&�Å£�+&� #ûjáT&�+ 

 3. ç¿£eT¥¿£�DqT bÍ{ì+#á&�+ 

 4. $<�«sÁT�\qT �q+~+|�#ûjáT&�+ 

 

 

 



118. A tool helps the teacher in the classroom, to teach the abstract 
concepts of mathematics is  

 1. Play material 
 2. Study material 
 3. Teaching Aids 
 4. Notes  

 >·DìÔá+ýË� neTÖsÁï uó²eq\qT ne>±V�²q|�sÁ#á&��¿ì ÔásÁ>·Ü >·~ýË 

�bÍ<ó�«jáTT�¿ì d�V�äjáT¿±]>± �|�¿£]+#û kÍ<ó�q+ 

 1. ç¿¡&�kÍeÖçÐ 

 2. #á<�TeÚÅ£�Hû kÍeÖçÐ 

 3. uË<ó�HÃ|�¿£sÁD²\T 

 4. HÃ{Ùà 

 
119. “In preparing Mathematics curriculum, we should give the 

priority to the student’s needs, interests and abilities.” 
According to the principles of construction of curriculum,  
this statement belongs to which value of the following 

 1. Disciplinary value 
 2. Cultural value  
 3. Utilitarian value 
 4. Principle of child centeredness 
 

 »»>·DìÔá $<�«ç|�D²[¿£ �s��D+ýË $<�«]� jîTT¿£Ø ned�s�\T,  

�d�Å£�ï\T, kÍeTs��«\Å£� çbÍ<ó�q«Ôá�y�Ç*.µµ $<�«ç|�D²[¿£ �s��D 

�jáTeÖ\ ç|�¿±sÁ+ � ç|�e#áq+ ç¿ì+~ @ $\TeÅ£� #î+<�TÔáT+~ 

 1. ç¿£eT¥¿£�D $\Te  

 2. kÍ+d�Ø�Ü¿£ $\Te  

 3. ç|�jîÖÈq $\Te  

 4. ¥Xø� ¹¿+çB¿£�Ôá �jáTeT+ 

 



120. The Evaluation based approach in writing lesson plan was 
proposed by 

 1. D.S. Kothari 
 2.  Herbart  
 3. Benjamin Blooms  
 4. Morrison  
 

 eTÖý²«+¿£H�<ó�]Ôá bÍsÄÁ«|�<̧�¿£ qeTÖH�qT ç|�ÜbÍ~+ºq y�sÁT 

 1. D.S. ¿=sÄ�] 

 2. �V²s�ÒsY¼  

 3. uÉ+�eTH� �Ö¢y�Tà 

 4. yîÖ]d�H� 

  



SET –1 

EVS 
 

121.  The jelly like substance between nucleus and the cell 
membrane is 

 1. nucleoplasm 
 2. cytoplasm 
 3. protoplasm 
 4. Endoplasmic reticulum 
 ¹¿+ç<�¿±�¿ì, ¿£DÔáÇ#��¿ì eT<ó�« �q� �>·TsÁTe+{ì |�<�sÁÆ+ 

 1. ¹¿+ç<�¿£ç<�e«+ 

 2. ¿£Dç<�e«+ 

 3. Je|�<�sÁÆ+ 

 4. n+Ôá̄ ë ç<�e«C²\+ 

 

 

122. Goiter is a disease associated with 
 1. Adrenal gland 
 2. Pituitary gland 
 3. Thyroid gland 
 4. Pancreas 
 >±sTT³sY nHû y�«~ó B�¿ì d�+�+~ó+ºq~ 

 1. n~óe�¿£Øç>·+~ó 

 2. |¾³Ö«³¯ ç>·+~ó 

 3. <̧îÕs�sTT&� ç>·+~ó 

 4. ¿Ã¢eT+ 

 



123. If the force is applied on the objects in the direction of its 
motion, the speed 

 1. increases 
 2. decreases 
 3. remains same 
 4. becomes zero 

 ed�TïeÚ�|Õ ç|�jîÖÐ+#á�&�q �\ ~Xø n~ ¿£~ýñ ~XøýËHû �+fñ,  

ed�TïeÚ e&� 

 1. �|sÁT>·TÔáT+~ 

 2. Ôá>·TZÔáT+~ 

 3. eÖsÁ<�T 

 4. d�TH�� neÚÔáT+~ 

 

124. The plan to save the Ganga river, called the ‘Ganga action 
plan’ was launched in the year 

 >·+>± q~� ¿±bÍ&�&��¿ì »>·+>± ¿±s�«#ásÁD ç|�D²[¿£µ  

çbÍsÁ+_ó+#á�&�q d�+eÔáàsÁ+ 

 1. 1965 
 2. 1975 
 3. 1985 
 4. 1995 
  

 

 

 

 

 



125. The process by which heat is transformed from hotter end to 
colder end in solids is 

 1. combustion 
 2. convection 
 3. conduction 
 4. radiation 

 |��Tq|�<�s��\ýË �w��+, yû&� ¿=q qT+&� #á\¢� ¿=qÅ£� �~©  

 È]¹> $<ó�q+ 

 1. <�V�²q+ 

 2. �w�� d�+eV�²q+ 

 3. �w�� eV�²q+ 

 4. �w�� $¿ìsÁD+ 

  

126. The vascular tissues that transport substances in plants 
 1. xylem, phloem  
 2. xylem, plasma 
 3. phloem, root hairs 
 4. root hairs, xylem 
 yîTT¿£Ø\ýË |�<�s�Æ\qT d�sÁ|��s� #û�d ç|�d�sÁD ¿£DC²\+ 

 1. <�sÁTeÚ, bþw�¿£ ¿£DC²\+ 

 2. <�sÁTeÚ, bÍ¢kÍ� 

 3. bþw�¿£ ¿£DC²\+, eTÖ\¹¿Xæ\T 

 4. eTÖ\¹¿Xæ\T, <�sÁTeÚ 

 

 

 

 



127. A freely suspended bar magnet always comes to rest in the 
direction of 

 1. North - South 
 2. East - West 
 3. East - South 
 4. West - North 

 �dÇ#áÌÛ>± çyûý²&�Bd¾q <�+&�jáTkÍØ+Ôá+ m\¢|�ð&�Ö � ~Å£�Ø\ýË  

�XøÌ\ d¾�Ü¿ì ed�Tï+~. 

 1. �ÔáïsÁ̀ <�¿ì�D 

 2. ÔáÖsÁð`|�&�eTsÁ 

 3. ÔáÖsÁð`<�¿ì�D 

 4. |�&�eTsÁ̀ �ÔáïsÁ 

 

128. Natural calamities, poverty, unemployment are basic  
reasons for 

 1. Agriculture 
 2. Education 
 3. Migration 
 4. Production 
 ç|�¿£�Ü yîÕ|�̄ Ô�«\T, �|<�]¿£+, �sÁT<Ã«>·+ e+{ì$ B�¿ì ç|�<ó�q 

¿±sÁD²\T 

 1. e«ekÍjáT+ 

 2. $<�« 

 3. e\d� 

 4. �ÔáÎÜï 

 
  



129. Skull, rib cage, back bone are the main parts of 
 1. Digestive system 
 2. Respiratory system 
 3. Nervous system 
 4. Skeletal system 
 ¿£bÍ\+, �sÁ'|�+ÈsÁ+, yîHî�eTT¿£ � e«ed��ýË� eTTK«uó²>±\T 

 1. JsÁ� e«ed�� 

 2. XæÇd� e«ed�� 

 3. H�&� e«ed�� 

 4. nd¾�|�+ÈsÁ e«ed�� 

 
130. My mother has a brother whose daughter is Sanjana. Sanjana 

is my mother’s 
 1. sister 
 2. aunt 
 3. daughter 
 4. niece 
 eÖ neT� kþ<�sÁT� Å£LÔáTsÁT d�+Èq. d�+Èq eÖ neT�Å£�  

 1. kþ<�] 

 2. nÔáï 

 3. Å£LÔáTsÁT 

 4. yûTq¿Ã&�\T 

 

 

 

 

 

 



131. The primary means of transport in desert 
 1. sledge 
 2. camel 
 3. boat 
 4. rope way 
 m&�] çbÍ+Ôá+ýË ç|�<ó�qyîT®q sÁy�D² kÍ<ó�q+ 

 1. �d¢&�̈ 

 2. ÿ+fÉ 

 3. |�&�e 

 4. sÃ|t yû 

 
132. »»If you land on a snake, do not frown. In this game, you go up 

and downµµ. Name this game. 

 1. ludo 
 2. chess 
 3. snake and ladder 
 4. carroms 
 »qTeÚÇ bÍeTTqT #ûsÁTÅ£�q�|�ð&�T uó�jáT|�&�Å£�. m¿£Ø&�+, ~>·&�+ � 

�³ýË nÜ d�V�²È+.µ � �³ �|sÁT 

 1. \Ö&Ã 

 2. #á<�sÁ+>·+ 

 3. yîÕÅ£�+sÄÁbÍ° 

 4. ¿±«sÁy�Tà 

 

 

 



SET –2 

SOCIAL STUDIES 

 

133. This is a renewable resource  

  1. Coal 

 2. Petroleum 
 3. Natural Gas  

 4. Solar Energy 

 �~ |�ÚqsÁTÔ�Î<�¿£ eqsÁT 

 1. u¤>·TZ 

 2. �|ç{Ë*jáT+ 

 3. d�V�²È y�jáTTeÚ 

 4. kåsÁXø¿ìï 

 

134. The country that celebrates Christmas in summer is   

  1. Australia 

 2. America  
 3. France 

 4. China 
 yûd�$ ¿±\+ýË ç¿ìd��dt |�+&�T>·qT ÈsÁT|�ÚÅ£�Hû <ûXø+ 

 1. �ç�d¼*jáÖ 

 2. nyîT]¿± 

 3. çb�ÍH�à 

 4. #îÕH�  



135. Devagiri was the capital city of  

  1. Hoyasalas  

 2. Yadavas  
 3. Pandyas  

 4. Cholas  

 <ûeÐ] M]¿ì s�È<ó��>± �+&û~ 

 1. �VAjáTd�\T\T 

 2. jáÖ<�eÚ\T 

 3. bÍ+&�T«\T 

 4. #ÃÞø�\T 

 

136. Every person has a fundamental right to be defended himself 
by a lawyer as per this article  

  1. Article-23 

 2. Article-22 
 3. Article-24 

 4. Article-28 

 � n~ó¿£sÁD+ ç|�¿±sÁ+ ÿ¿£ H�«jáTy�~ <�Çs� ÔáqqT Ô�qT sÁ¿ì�+#áT

Å£�Hû çbÍ<̧�$T¿£ V�²Å£�Ø ç|�Üe«¿ìï¿ì �+³T+~. 

 1. 23e n~ó¿£sÁD 

 2. 22e n~ó¿£sÁD 

 3. 24e n~ó¿£sÁD 

 4. 28e n~ó¿£sÁD 

  



137. The most common way to purify water is  

  1. Cooling 

 2. Freezing 
 3. Melting  

 4. Boiling  

 ú{ì� Xø�~Æ#û�d nÔá«+Ôá kÍ<ó�sÁD |�<�ÝÜ 

 1. #á\¢�sÁ#á&�+ 

 2. >·&�¦ ¿£{ì¼+#á&�+ 

 3. ¿£]Ð+#á&�+ 

 4. eT]Ð+#á&�+ 

   
138. He proposed ‘objective resolution’ in the inaugural session of 

constituent assembly 

  1. Jawaharlal Nehru 

 2. B.R. Ambedkar 
 3. Sardar Vallabhbhai Patel 

 4. H.C. Mukharjee  

 uó²sÁÔá s�C²«+>· d�uó� çbÍsÁ+uó� d�eÖyûXø+ýË »\¿�±«\ rs��q+µ  

ç|�ÜbÍ~+ºq y�sÁT 

 1. ÈeV�²sYý²ýÙ HîçV�A 

 2. B.R. n+uñ<�ØsY 

 3. d�s�ÆsY e\¢uó�uó²sTT |�fñýÙ 

 4. H.C. eTTK¯̈ 

  



139. Bheemunipatnam municipality was established in this year 
  ;óeTT� |�³�+ eTT�d¾bÍ*{¡ kÍÆ|¾+#á�&�q d�+eÔáàsÁ+ 

  1. 1881 

 2. 1871 
 3. 1891 

 4. 1861 
 

140. This is not a common method to conserve land resources  

  1. Afforestation 

 2. Land reclamation  
 3. Use of Chemical fertilizers  

 4. Checks on over grazing  
 uó�Ö eqsÁT\qT d�+sÁ¿ì�+#á&��¿ì nqTyîÕq |�<�ÝÜ ¿±�~ 

 1. n&�eÚ\ �|+|�¿£+ 

 2. uó�Ö �d¿£sÁD 

 3. sÁkÍjáTq msÁTeÚ\ y�&�¿£+ 

 4. |�Xø�eÚ\qT nÜ>± yûT|�&��� �jáT+çÜ+#á&�+ 

 

141. Akbar built ‘Ibadat Khana’ for  

  1. Rest   

 2. Military training  
 3. Minting  

 4. Worship 
 n¿£ÒsY »�u²<�ÔY U²H�µ qT B� ¿Ãd�+ �]�+#�&�T 

 1. $çXæ+Ü 

 2. �dÕ�¿£ ¥¿£�D 

 3. H�Dñ\ eTTç<�D 

 4. çbÍsÁ�q 



142. “Bigha” means  

  1. A unit of measurement of land  

 2. A unit of measurement of labour 
 3. A unit of measurement of revenue 

 4. A unit of measurement of crops 

 »;|��Öµ nq>± 

 1. uó�Ö$T� ¿=*#û ç|�eÖD+ 

 2. çXøeTqT ¿=*#û ç|�eÖD+ 

 3. �<�jáT+ qT ¿=*#û ç|�eÖD+ 

 4. |�+³\qT ¿=*#û ç|�eÖD+ 

 

143. The first Indian female Doctor was  

  1. Kadambini Ganguli  

 2. Bachendripaul 
 3. Anandibai Joshi 

 4. Savithribai phule  
 uó²sÁÔá<ûXø|�Ú yîTT³¼yîTT<�{ì yîÕ<�T«s�\T 

 1. ¿±<�+_� >·+>·Ö© 

 2. �#û+ç~bÍýÙ 

 3. �q+Bu²sTT CËwÓ 

 4. kÍ$çÜuó²sTT |�Pýñ 

 

  



144. Identify the mis matched pair  

  1. Prakasam Barrage - River Krishna  

 2. Dowleswaram Barrage - River Godavari 

 3. Somasila Project-River Penna  

 4. Nagarjuna Sagar-River Kaveri 

 d�]¿±� ÈÔáqT >·T]ï+#á+&�. 

 1. ç|�¿±Xø+ u²«¹s� ` ¿£�cÍ� q~ 

 2. <ó�eÞâXøÇsÁ+ �q¿£³¼ ` >Ã<�e] q~ 

 3. kþeT¥\ çbÍCÉÅ£�¼ ` �|H��q~ 

 4. H�>±sÁT¨q kÍ>·sY ` ¿±yû] q~ 

  

145. In the present formative assessment weightage table 40% of 
marks are allotted to 

 1. participation and responses of children 
 2. written work of children 
 3. project works 
 4. slip test 

 ç|�d�TïÔá �s��D²Ôá�¿£ eTÖý²«+¿£q uó²sÁÔáÇ |�{ì¼¿£ýË 40% eÖsÁTØ\qT

M{ì¿ì ¹¿{²sTT+#�sÁT. 

 1. |¾\¢\ uó²>·kÍÇeT«+ ` ç|�Üd�Î+<�q\T 

 2. |¾\¢\T s�d¾q n+Xæ\T 

 3. çbÍCÉÅ£�¼ |�qT\T 

 4. \|��TT |�̄ ¿£� 

 

 

 



146. Teaching and learning should be 
 1. school centric 
 2. teacher centric 
 3. student centric 
 4. class centric 
 uË<ó�q eT]jáTT nuó�«d�q � $<ó�+>± �+&�* 

 1. bÍsÄÁXæ\ ¹¿+çB¿£�Ôá 

 2. �bÍ<ó�«jáT ¹¿+çB¿£�Ôá 

 3. $<�«]Æ ¹¿+çB¿£�Ôá 

 4. ÔásÁ>·Ü ¹¿+çB¿£�Ôá 

 

147. “Science is a quantity of knowledge which makes us learn 
how we should be.” This definition was given by 

 1. Albert Einstein 
 2. A.W. Green 
 3. Carl Pearson 
 4. Robert Mach Arthur 
 »»$C²ãq Xæg+ eTq+ mý² �+&�ýË Hû¹sÎ C²ãqs�¥µµ n�  

�sÁÇº+ºq~. 

 1. �\ÒsY¼ ×H�dÓ¼H� 

 2. m.&��Ö¢«. ç^H� 

 3. ¿±sY¢ |¾jáTsYd�H� 

 4. sÃ�sY¼ yîT¿ù �sÁÆsY 

 
  



SOCIAL METHODOLOGY  
 

148. “Social Science is the study of the Inter Relationship of 
Historical, Geographical and social subjects” defined by   

  1. J.V. Michaels  

 2. James Hemmings  

 3. Kothari Commission 

 4. National Educational Council 

 »»#�]çÔá¿£, uó�>Ã[¿£, kÍ+|�¾T¿£ $w�jáÖ\ n+ÔásÁ d�+�+<ó�\  

n<ó�«jáTqyûT kÍ+|�¾T¿£Xæg+µµ n� �sÁÇº+ºq y�sÁT 

 1. J.V. yîT®UñýÙà 

 2. Cñy�Tà �V²$T�+>́à 

 3. ¿=sÄ�] ¿£MTw�H� 

 4. C²rjáT $<�«eT+&�* 

 

149. Identify the false statement regarding ‘Dramatisation’  

  1. Role players should be chosen carefully 

 2. The classroom should be considered as a stage 

 3. The script should be prepared in advance  

 4. The teacher should control the performance 

 »H�³¿¡¿£sÁDÅ£�µ d�+�+~ó+º d�]¿±� n+Xø+ 

 1. bÍçÔá<�sÁT\qT C²ç>·Ôáï>± m+#áT¿Ãy�* 

 2. ÔásÁ>·Ü >·~Hû sÁ+>·d��\+>± uó²$+#�* 

 3. ¿£<̧�qT eTT+<�T>±Hû d¾<�Æ+ #ûd�T¿Ãy�* 

 4. ç|�<�sÁôqqT �bÍ<ó�«jáTT&�T �jáT+çÜ+#�* 

  



150. The total marks allotted to project work in the Formative 
Assessment is  

  1. 10 marks   

 2. 15 marks 

 3. 5 marks 

 4. 20 marks  

 �s��D²Ôá�¿£ eTÖý²«+¿£q+ýË çbÍCÉÅ£�¼ |�qT\Å£� ¹¿{²sTT+ºq  

eÖsÁTØ\T 

 1. 10 eÖsÁTØ\T 

 2. 15 eÖsÁTØ\T 

 3. 5 eÖsÁTØ\T 

 4. 20 eÖsÁTØ\T 


